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Chapter 6 Review and Final Exam Study Guide Date
Convert each degree measure into radians. Leave answers in fraction form.
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Find the area of each sector. Round your answers to tenth. REMEMBER UNITS.
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Sketch the Graph by clearly using an arrow to show the angle location in the appropriate

quadrant. You do not need to label the reference angle. Find the exact value of each
trigonometric function.
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Sketch the graph- clearly using an arrow to show the angle location in the appropriate quadrant.

Then label the reference angle (B) in radians!!!!

Find the exact value of each trigonometric
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Use degrees. Find the AMPLITUDE(amp), PERIOD(per) & VERICAL SHIFT(c).
SKETCH the graph - include the 4 critical points, midline(if applicable), label scales and axes.
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Amplitude: 3
Period: 120°

=)

FANSEIE:

: —
i

£ 1

e A

\ \ ¥
30 bo W"-"

Sin & N T Mime

Jk_ i " |’crm!: :’,,|”|

c=4

A .0{

L

~ -~
\T— —& .
.\ L P 1 —
1] T 7 L3 T
0 20
-\ o S }.w ), sY 1

26) y=4cos 6
A Amplitude: 4
¢ . Period: 360°
! c=o
"IN 17
il | | .
B 140 3dn 540"
adid L\
0 \ y
4o 180 /A% 3GoO

(‘/o.s 8'(-"'3 M.""’“‘m

28) y=2+3csc O

A

N

- Perod: 360
l LVl =2

Y

L
5- \j
- ~
P ~
j\"— = O = ’ -
I f\ ! Z |
~|t o Lgo > _qpp” 360

=



29) y=3sin§+2
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USING TECHNOLOGY TO SKETCH the graph to fit the scale of the given graph
*TIP: (Y=) > (ZOOM)ZTRIG > (WINDOW) set window to fit the scale of the given graph

Label midline(if applicable) with a dotted line, label x-axis minimum an maximum for

amplitudes and y-axes for periods.
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